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GENERAL INSTRUCTIONS TO THE EXAMINEES

1.

Tl FdAvem ST TR U TR MG Srfaria: foe |

Candidate must write frist his/ her Roll No. on the question paper compulsory.

o e 8 o At 8 |

All the questions are compulsory.

TAF U HT R < T STRYRATHT 7 8 e |

Write the answer to each question in the given answer Book only.

59yt & SrfdRe w@vs 8, S Wl & U & STR Ud ORI o fore |

For question having more than one part, the answers to those parts are to be written
together in continuity.

T UF $ R T 3 wurRer # fAdl geR & I /omR /R B9 R R
WM B T BT FET AN |

If there is any error/difference/contradiction in Hindi & English versions of the question
paper, the question of Hindi versions should be treated valid.

U BT SR e U qd U BT e a9 e |

Before writing the answer to the question, you must write the serial number of the
question.

U 9. 23 AHfoS R 9§ WA 21 3% 4 ofF B D)
Question No. 23 is related to map work and carries 4 marks.

e W 21 ¥ 23 dd # 3fdR® fadmed B

Question No. 21 to 23 have internal choice.

Section - A
e —
Multiple Choice Questions -
W 1. 0 ueEl & SR $1 WET e TR BR STRYRAST A Ay |
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Write the answer to the following questions in the answer book.

(i) TN =M= A= w9 gar, —
(31) 5 STTaT 1930
(9) 15 SR 1931

(@) 5 AT 1931
(3) 5 WA 1930
When was Gandhi Irwin pact finalised ?

(a) 5 January, 1930 (b) 5 march, 1931
(c) 15 January, 1930 (d) ) 5 march, 1930
() B WIS YKIP & olEd HIF 8—

(@) o= A

() HBTAT e () W g

(81) SRR TEw

Who wrote the book ‘Hind Swaraj’ ?
(a) Jawaharlal Nehru (b) Nelson Mandela
(¢) Mahatma Gandhi (d) Bhagat Singh
() frgeamdy anfde w1 FT YHATT g8 —

(a1) 1919 (@) 1929

(¥) 1935 () 1933

The great depression began around -

(@) 1919 (b) 1929

(c) 1935 (d) 1933
(V) TR &1 AT g Td SN FIF BBl wIfid gor?

(@1) T (@) SRIRgR
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Where was India’s first iron and steel plant set up -

(a) Mumbai (b) Jamshedpur
(¢) Ahmedabad (d) Bokaro

(v) ST1er TToTe uf3eT &1 wTed faee fear? 1
(1) ar=T R (@) o e fRRawt
(|) I M AIBT ™ (8) TIRR et ()

Who edited the Bangal Gazette newspaper ?
(a) Warren Hestings (b) James Augustus Hickey

(c) RajaRam Mohan Roy  (d) Gangadhar Bhattacharya

(V1) IRT # BT Sl AR 87 1
(61) Tl (@) P Telim
(%) wode () <1 gelra ()
Which party system is there in India ?
(a) Multy party (b) One party
(c) Alliance (d) Two Party

(vin) |TRSTeh favTorT STfisiem: STenRa 8raT 8— 1
(@) T (3) 9T ™
() aRaR W () s W ()
Mostly social divisions are based on -
(a) Death (b) Dynasty
(c) Family (d) Birth

(vm) FrgfRe ardf @1 faemaT 3— 1

@) amfSe SrATT
(@) anfde R TR ¥ R orIfae T IR UHIER gAY eEdt 2 |
(@) 3nfdes T (%) TSt BT GHAA ()

Characteristic of the communist party is —

(a) Social inequality

(b) Accepts economic reforms but maintains a monopoly or political power

(¢) Economic inequality (d) Support to monarchy

(1X) ST WTYT BT ol HROT - 1
(1) SRR (@) rferT
(%) Ty (®) g7 4 B T ()
The root cause of consumer exploitation is -
(a) Unemployment (b) Tlliteracy
(c) Poverty (d) None of these

() wrfor &=t Bt B anaTear gega: fhaft B § - 1
(@1) smam™ (@) wael e & fore
@) fager = @ forg (3) uRaR® 3 & forg ()
What is the main reason for the need of credit in rural areas -
(a) Accommodation (b) For crop industries
(¢) For foreign tour (d) For family income

(xi) TogfHfEE girer e e § @ 6w 1TE w9 H gE a1 172 1
(&) T (&) =T TR
(%) wire e (=) wiEe ()

Which of the following is used by the aluminum smelting industry as a raw material?

(a) Sugarcane (b) Limestone
(c) Iron Ore (d) Bauxite
(i) =1 5 & wiwe fafi= e % o wom w9y o g TR &1 9ihar 22 1
(1) frofiepeo ORLEE
(R) AveftoRTor (@) S ()

Which of the following is a process of mutual relations and rapid integration between

different countries?
(a) Privatisation (b) Nationalisation

(c) Globalization (d) Liberalization



g2 Raw wmi & qfef ifog — State two challenges to democracy.

Fill in the blanks - () \Hd =R SR fHhY e 87 1
(i) YR Fatanett g @M T oL & ey TR SIEE o T A | 1 What is gross demostic product ?
The advertisements made by Indian manufacturers became the vehicle of the (xi) raw &5 3 39 9T FHSd &7 1
nationalist message of ........c.ccoeevuvevennne . What do you understand by tertiary sector ?
) (xii) we foorme fRdie foress 5T gomfer st St 22 1
(n) e < SRSk — T S S o | 1 Who publishes the Human Development Report ?

Labourer sent from India to foreign countries were knownas ..............

() = B ISNE B T T8 fBaT O Webd11” A 9 T B 1 g .g—q
Religion can never be separated from politics ................. said these words. Section - B
(IV) SRIT STRI B ... ST A BBT ST 2 1 .
The average income is also called ............. income. TYTRIAD YT — I 9. 04 W 16 & I forfae (erc ¥ 50 9r<a)
(V) TRE & BRET (FIE) s ST BT 1 Short Answer Type Questions — Write the answer from Q.4 to Q.16 ( Word limit : 50 Words)
.............. issues currency notes in India. 4. SEFER FE? 2
(V1) R ¥ RIS BT LT SUARHT faaed 71T ST 2 | 1 What i ticism 2
National Consumer Day is celebrated every year in Indiaon .............. a5 e atlsroman Ic;;? %\r 5 )
4. 3. AfAGRISTE T & SR U@ v a1 U@ Ufe § Afrr— ; Whtg_g\{th{;‘; Woud: -
Very Short Answer Type Questions — (Write the answers of the questions in one word at1s e_ retton Woods agreement -
or in one line) U6 e Wit @ Bk 87 BIS ]T SIS | 2
(i) 1880 ¥ <z F S WG H AR F 3T 90 F AR F Fore el HaEwwE i & "fgens ¥ What are vulnerable species ? Write any two examples.
T Rt | ] U7 dgoeid uRASHRI & &1 ™ qasy | 2
State two advantages of multipurpose project.
Name two wor'nen of Maharashtra who wrote about the miserable lives of upper- 8 <& IR w9 wEd Y FEq &7 2
caste women in 1880s. What is Rabi and Kharif crops ?
(i) “vem fasa Y5 uBS AMEIAF ARNTF g o|” BIE Th HROT ARG | 1 H9 WM 7 RIS R ¥ 3R W F | 2
he £ d he £ q p | S Explain the difference between local and international trade.
“The first world war was the first modern industrial war.” State any one reason. L ’ &
Y 10 AHad ¥ G B ARER 9 Sed 8 7 2
(i) snfe — SMEFfieRT ¥ MU @7 |HSI &7 1 Why is there a need of power sharing in democracy ?
What do you mean by proto-industialisation ? U1 (9 YBR WIS Skl A wAlbdd Yge Bl 8 ? 2
How does democracy strengthened with social differences ?
(iv) <& &1 & S 8? 1 , ,
U2, 9T W AR I § R TS | 2
What is the use of jute ? Explain the difference between pressure group and movement.
(v) SIS SR a1 A BT TH IUR R | 1 "13 ¥ fawm @ 87 ufd wifts oty ofRk Iy sma @ uRem fer | 2
According to you, state are measure to prevent floods. What is economic development ? Write the definition of per capita income and national
(vi) =R fF w8d &7 1 income ?
i 2 o o
. that is trade o 14 el RO 3R 7o RIS # e Sy | 2
i) & = W o L Distinguish between open unemployment and disguised unemployment.
What are regional parties ? . . . N
(viii) ATHTT B BIg QT AT IATRY | 1 BAS ST ATAIGARIT & TER AT BT SAARAGAT BT FA FR 4l §
State any two advantages of democracy. T BT | 2

(iX) iweT & ar W forfee | 1 “Money solve the problem of double coincidence of wants.” Explain.



UA6  IUUISH I THG F TS h¥ H Tkl § 2 2
By what means can the consumers express their solidarity ?
grs—YH
Section-C

e ST TF— 9T 17 W 20 & SR falag | (@ A9 100 v)
Long Answer Type Questions — Write the answer from Q.17 to Q.20 { Word limit : 100 Words)

Y17 SIRAET IR BT R ey | 3

Write the features of liberal nationalism.
U8 “HARF B o e § wsage e e 210 B8 O 9@ 99—y 3
Resources play an important role in any development . Give any three arguments.

U9 IRA # oI H Sfa 8RS & o7eR oI’ | T 31 39 $eF 9 98dd 87
PR N TP AR 3

There is caste in ‘politics’ and ‘politics in caste’ in India. Do you agree with this statement.

Give any three arguments.

20 JeHIHRUT § AU G A 8 TH WG 99 aT] $RP Gz | 3
‘What do you understand by globalization ? State the factors that make this possible.

grs—q
Section-D
FrevaT® uT- Ue 21 ¥ 22 @ SR TRy (T iEm 250 =)
Essay Type Questions — Write the answer from Q.21 to Q.23 ( Word limit : 250 Words)
9. 21 fafu= orifaes o gers faifos & were W w4 5 gu 9?2
Jfepar
YRS W FABY SRIEART JRIe 6 UHR T8 § 9 Bt a7 ? 4

Why did political leaders differ sharply over the question of separate electorates ?
OR

How did the non-cooperation movement spread from the cities to the countryside?

22 WHEdE R 3 7 gHd g ARl S \Hsisy |

34T
R IR FaReN & fAfFT IR BIF—db o 8? 3d Mo+ &I ufshar 9157 4

What is federalism ? Explain its main features.

OR
What are the different levels of local government system ? Explain the process of its

formation.

Y. 23 U3 BT SR ¥ T AT H R0

& T IR @ e aEfaE # fAEfoRad @ sifed @i

(1) aeTERT (@) e
@) TeIRT (®) TR
34T
(37) =R (@) sTEhH
(%) g=TTe (@) TFe 4

Answer the question in the given map —

Mark the following in the given outline map of India.

(a) Vadodara (b) Rawatbhata

(c) Tutikorin (d) Gandhinagar
OR

(a) Beawar (b) Amarkantak

(c) Sundargarh (d) Tumkuru



